NASA'’s Cyclical Process
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The newer design process is
cyclical, and does not mention
sharing. The older design
process only has a cycle of four
steps, ends with sharing, and
calls "experiment” “test.” Both
processes use the same 6 main
steps, and they both repeat the steps to plan, create, test, and improve.
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Correct responses
are a complete

sentence that \
describes how sharing results allows others to build off this success OR how
sharing results gives information to other scientists and engineers.

Imagine

Sentence Grammar

Grammar inhibits a Grammar detracts from  There are three or fewer
reader from the reader’s minor grammatical
understanding. understanding. mistakes.
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* Subtract 0.1 scoring points for each misspelling or incomplete sentence.
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